This question paper contains 15 printed pages]

Your Roll No.................
76 |
BCom/M A
Paper VI : BUSINESS MATHEMATICS AND STATISTICS
- Part B : Business Statistics

(Admissions of 2006 and onwards)

Time : ‘2 Hours Maximum Marks : 37
(Write your Roll No. on the top immediately on receipt of this question paper.)

Note :— (i} Answers may be written either in English or
in Hindi; but the same medium should be used

throughout the paper.

() The maximum marks printed on the question
paper are applicable for the students of the
regular colleges (Cat. ‘A’). These marks will,
however, be scaled up proportionately in respect
of the students of NCWESB at the time of posting
of awards for compilation of result.

P.T.O.



( 2 ) 776‘

fraol ;) T WA W IW et w e fad

T v A Sifan; dfeT ot T w1 e
@ e e

G) Y- W dAfea quis frafra wids
(St ) & faefdal & faw swiea &
amﬁiﬁmmwm%ﬁaﬁﬁ%ﬁa‘a
# I ofom & w§wem & fau faw
afyfolg & Y W, FH AAGE €9
i afyw

Attempt All questions.

st 3w wifsm

1. (@) The mean and median of the marks of a group
of 75 students in a test were calculated as 27
and 29 respectively. It was later discovered that

two observations were wrongly recorded as 53
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and 45 instead of 35 and 55. Examine to what
extent.the calculated value. of the above two
measures will be affected by the discovery of

the errors ? 2

If the value of one variable is dect_'easing and
the value of other variable is alsol decreasiﬁg
in the same ratio, is it a case of perfect negative
correlation ? If not, what shall be the value of

coefficient of correlation ? 2
State two properties of regression coefficient, 2 -

For a distribution, the coefficient of variation ié
30% and the value of arithmetic mean is 20,

Find out the value of standard deviation. 1

T W F 75 o ® T W @ i
w1 W IR i wuen: 27 sl 20 wRee
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What is meant by dispersion ? Why is standard

deviation better than mean deviation ? 3
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The marks obtained by 70 students in an

examination are grouped as follows :

Marks No. of students
0—10 4
10—20 8
20—30 10
30—40 25
40—50 7
50—60 16
Calculate :

() The marks at the 25th percentile.

(@) The marks at the third quartile.

(i) The approximate number of students who

failed in the examinations if the pass marks

are considered to be 40%.

7

Explain briefly the limitations of statistics. 3
' P.T.O.
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() The number of employees, average wage per
employee and variance of the wages per

employee for two factories are given below :

Factory A [Factory B

No. of employees 100 200
Average wage per -
employee (Rs.) 120 200

Variance of the wages

per employee (Rs.) 16 25

/) Which factory’s wage bill is larger ?

(7)) Which factory’s workers are better off ? and
Why 7

(@i} In which factory, is there greater variation

in the distribution of wage per employee ?

(iv) Calculate the combined average wage per

employee of the two factories. 7
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State the problems faced while constructing the

Index numbers. 3

The equations of two regression lines in a regress

analysis are as follows :

3x + 2y

26 N
6x + y = 31
A student obtains the mean value X = 7, ¥ = 4
and the value of the correlation coefficient
r = + -5. Do you agree with him ? If not, suggest
your Aanswer. 7
Or

Define geometric mean and state the areas where
its use is considered appropriate. 3
Fit a straight line trend by the method of least
squares to the following data :

P.T.O
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Assuming that the same rate of change in trend

values continues, what would be the predicted

earnings for the year 2012 ? 7
Year Earnings
(of Lakhs Rs.)
2000 10
2002 4
2004 15
2006 17
2008
2009 24 7

(F) gaFHi® & =N FO F oM aet gt
F Ie™ iU

(@) & auigg fawme § @ guerw el @
iE 39 YER ¥

3x + 2y 26

6x + y 31

]
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(@) What are the advantages and limitations of

moving average method of measuring trend

values ?

3

(b) Calculate Karl Pearson’s mefﬁcient of correla-

tion between the marks in Statistics and marks

in Mathematics scored by 100 students : 7
Marks in Statistics
Marks in |40-50 | 5060 | 60-70 | 70-80 | Total
Mathematicsw
1
50—55 4 7 5 2 18
55—60 6 10 7 4 27
60—65 6 12 10 7 a5
65—T0 3 8 6 3 20
Total 19 37 28 16 100
Or

(@) Describe briefly the different components of a

time series.

3
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Compute Price Index Numbers from the

following data using (i) Laspeyre’s (if} Paasche’s

(Gii) Fisher's methods and verify that Fishers

Ideal Index satisfies both “Time Reversal Test”

and “Factor Reversal Test”. 7
2007 2008
Commodity Ql:.lantity Vahie | Quantity | Value
A 50 350 60 420
B 120 600 140 700
C 30 330 20 200
D 20 360 15 300
E 5 40 5 50

(%) ST AEl & HOT & faAR e YOt &
w1 o o ofimd ¥ 2
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